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Topic:- Child Development & Pedagogy (CDP)

1) A student is provided with a choice of 15 topics of his/her interest to complete an assignment. This increases his/her learning

;ggemen%/wwaﬁamﬁqﬁvwmﬁ%mm/mvﬁr%ﬁﬁﬁmﬁﬁﬁﬁ HE LD Siftrm ot &
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1. Intellectual / SifgH
2. Behavioural/ <IdgR

3. Emotional /HTIH
4. Social / QTHATTSIR

Correct Answer :-

« Intellectual / Sifgh

2) ADHD children have difficulties in which of the following areas? /

ot % 2 fFa & ¥ diead) a=i & $i318 g 82
1. All of the above / 3Udd Haft

2. Attention only / hdel €I el

3. Hyperactivity only / daer 31fa afepaar

4. Impulse control only / hael 3TdeT fa=oT

Correct Answer :-

« All of the above /SCI%?F g

3) 1n an intelligence test a 9 years old boy is found to have mental age of 10 years , he belongs to the IQ classification of . [ TP §@
T30 § Uh 9 a9 P AP P! AP 39 10 TY UTE SITd! 8, I8 F gy Fiffeor A Tafta g1

1. Superior / A8 (FANIN)
2. Average / 3t

3. Genius / gfasmmemel (Shfaas)
4. Slow learner/m'l'ﬁ' (Q—T-ff T’IT-‘R)

Correct Answer :-

« Average / g

4) Which theory of development also focuses on social interactions in development? / faera &1 ﬁﬂ'—i"ﬂ ﬁ'-l_c&"i?l', g A armfere dae w oft
T Hisd P 32

1. Vygotsky / argaliceeh
2. Piaget / fUmar
3. Freud / %1Is

4. Kohlberg/ hgaaT

Correct Answer :-



+ Vygotsky / aT8ailcED

5) Asking students to list the uses of iron metal in class will help a teacher to examine which one of the following creative abilities in students? / w

DY B4 H T B YT $ STUNT B YAld5 P & ¢ Ho1 TP & B T8 e & #eg S 6 oEl A Fafafed § @ wH-@
IS &HdT 22

1. Flexibility / Tial

2. Originality / FIforeRdT
3. Elaboration /fa&dR
4. Fluency / JdT&
Correct Answer :-

o Fluency / 9dT&

6) The movement in Maslow’s Hierarchy of needs should be from / ATFal & WO % YSThA H @ afa gt aifee-
1. Love and belonging to Physiological needs / IR 3R 301U & ARSI ATAIRAT ddh

2. Self- actualization to Physiological needs / 3Tca-faReivor & TSI ATAIARAT ddh

3. Safety needs to Self-actualization / GT&TT HTIIHAT & 3McH TIRAVIT dh

4. Physiological needs to Self —actualization / @THIGI® 3TaTddr & A RAfg d@

Correct Answer :-

« Physiological needs to Self —actualization / TSI TETRAT F 3cd [Afg dF

7) Select the quality that is needed for a counselor. / WA ¥ fav araas R{Avar &1 a3a FiI
1. being judgmental/ fAUT=w 1T

2. being arrogant / JfHAT gl

3. being empathetic / Wﬂﬂ{% W BT

4. being defensive / IGTTcITD BIAT

Correct Answer :-

« being empathetic / Wﬁ{ﬁ W& BT

8) What is an infant likely to suffer from if the mother consumed large amounts of alcohol during pregnancy? / 39 IHTGEAT ¥ SR AT F
T AT H R F JaA fmar §, A Ry F FA JEAE @ A Feraem 2

1. Prenatal retardation / 9dd CE& Fear

2. Fetal withdrawal syndrome / 30T aTq&Y RigiA

3. Fetal alcohol syndrome / #oT #g g

4. Perinatal alcohol syndrome / JHddrelld F RAga
Correct Answer :-

« Fetal alcohol syndrome / #TT HAT g

9) What strategy should a teacher use in a situation when the student is being impolite? / ST & 33?3’ A I A YA F v Rarw H
fre Toriifa &1 39T wRer arfge?

1. Punishment / &%

2. Remind the student of classroom norms / & AIAT B BTET B Ale e



3. Argue with the student / STT & TTY dTg-faarg &Hear
4. Express shock / 3mdafhd & &ar

Correct Answer :-

« Remind the student of classroom norms / &7 AT H1 SET & Ig Eamar

10) What is the term given to describe the conditioned stimulus before classical conditioning occurs? / FATRIH HARATAT gt F Tgar
FTAT IAST FT JoIT I & AT Fler-ar ereg e mar @2

1. Natural stimulus / CI'IT{?ﬁEF ELECH

2. Unconditioned stimulus / Hﬂa’s{fﬁﬁ BRI
3. General stimulus / HTHAT STell

4, Neutral stimulus / dCET ST

Correct Answer :-

« Neutral stimulus / JEET 3ASTAT

11) What is the set of linguistic rules that govern the use of language for communication called? / TS &t &1 98 Fla-ar qHAT g
FOR & T sr & yaher F FEla swar 87

1. Grammar / <IThI0T

2. Phonemes / Tafetal

3. Pragmatics / 3UAIAIdmaG
4, Syntax / 9T fagm=

Correct Answer :-

+ Pragmatics / 3UATIATEIG

12) By the age of six months, infants are able to do the following, except ./ o Jg Y T, fﬂ'&_]; R ¥ f=faf@a
A A AT A §

1. Babbling / JcelTeT
2. Crawling / Ud & ol oIl (shifoiar)
3. Sit up ] doax

4. Eat solids / 319 Uty @r=m

Correct Answer :-

« Crawling /O & TeT TolAT (hifeidT)

13) When social beliefs are transferred from one generation to another, it becomes part of: / S AHATSS AT A TR "-ﬁ@l’ I m tﬁ?fl’
# Ty=aRa B srar €, @ 98 s REar 9 I

1. Transmission of culture / ?IFE% HT HTROT
2. Social mobility / HETSIH Ifaferdr

3. Social change / aEfee gRada

4, Individual development / R faer e

Correct Answer :-

+ Transmission of culture / FEHIA P IO



14) Personality is measured based on approach./ cOf¥dea &I TREHIOT F YR 9T ATIT ST B
1. Ideographic/ RaTeR Rvges (3mefear afre)

2. Socio-radical / Hmlﬁiﬁ-m?ﬁ

3. Surface-radical/ m-maﬂ'

4. Nomothetic/ AT U (AAIAE®R)

Correct Answer :-

« Nomothetic/ ATAEIE UMM (F1NAEF)

15) In which of Piaget’s 4 development stages is object permanence developed? / s & 4 RQF aeaEt & ¥ fFy saear & a¥qd
Tufica Refa o &2

1. Formal Operations / JtuaRe @ftrarcas
2. Concrete Operational / ?FJ\?-‘T aftparcas

3. Preoperational / CE& aftraTca®

4, Sensorimotor / 3fegd SAfd

Correct Answer :-

« Sensorimotor / 3'%'5 Jfad

16) Piaget’s Pre-operational stage is from ./ farsr &Y t[é’-ﬁﬁw‘#-‘l‘l?ﬂﬂ? aTar @l
1.7-11years/7-11 9§

2. 11 years and above / 11 a¥ wq 31fA®

3.2-7years [ 2-7 a¥

4.0-2years /0-2 9§

Correct Answer :-

« 2-7years/2-7 9§

17) Who said, An intelligence is a “biopsychological potential to process information in certain ways in order to solve problems or create
products that are valued in at least one culture or community”. Faa W,g?ﬁ'ﬂ?ﬂ "HHEATT T A T AT A G FA TH ?quﬁf qr
WAET # Heqdd 3cUEl H a0 & AT & aliFl § Teer F dwfta & & v da qadaas awar g1

1. Gardner/ IMEAT

2. Willingham/ Tafeorgar
3. Callahan/&eelel

4. Sattler/ VToR

Correct Answer :-

« Gardner/ MR

18) According to Psychosexual developmental theory, failure to successfully complete a particular stage would result in: / Al e
ReHia & AR, T faehy axor H Fherdgds QU Fa # fAverdr & aRomAEawy ghm:

1. Fixation / FERIeToT (RAararere)
2. Libido / STHTISIAT

3. Electra complex / Uﬂ?F;T FAATITY
4. Oedipus complex / 3Sug T



Correct Answer :-

« Fixation / FEIeoT (fthergiereT)

19) By what age are children likely to make friends? / ¥ 37 & s=9 @ a9 & S0 e
1. Four years / R T§

2. Three years / RIGEGLY

3. One year / T a¥

4. Two years /&1 a§

Correct Answer :-

« Three years / el a8

20) is the main determinant of cognitive development and learning. / wAECAS e 3R e #r q&q uRs §1
1. Values / 3ef@=ad

2. Beliefs / AT=IAT

3. Principles / Rrgia
4. Culture / FERIA

Correct Answer :-

« Culture / HEpTA

21) If a child has difficulty putting words down on paper, it may be due to a learning disability. The best instructional strategy to implement in a
classroom to support children who struggle with writing would be to: / Ify frdt T2 FY el FF FES W owe # Hfsars g g ar g
I HeTHAT & FROT g1 WHAT Bl AW F WT FEE F&A AT qedl F GHAT T & AT FaW F 0] A ¥ FE@ <D
FgeUTeHS IorEfa fAarafaf@a g

1. Provide more time on task/ BRI GT 31T FHAT U HLa

2. Provide extended periods of time in the resource room to receive one-on-one assistance/ TA-3TT-TA TEIAT U1 XA o folT Ta@raT He7
THY & TIEART 3 Fere B

3. Provide peer tutoring during writing time/ G AT & eRIA TEhaAT TR YcleT el

4. Provide detailed directions and graphic organizers to help with structure./ XTI & AT FGE PIA & folw ﬁw e 3k e e
U T

Correct Answer :-

« Provide detailed directions and graphic organizers to help with structure./ TXTAT & TTY IAGE I & TolT ﬁﬂ-‘rﬁ e 3k e 3maes
LG RCTCH

22) The variable that the scientific investigator changes or manipulates is called:/ 9§ X & e =AY TEadr § AT AP AT %, 39
T I &

1. independent variable/ T W
2. responding variable/ STRGIIT T
3. Control/ §IH

4. dependent variable/ 3T W

Correct Answer :-

+ independent variable/ TadT T



23) The mental networks that children form in their mind is known as: / ¥=af & f&HTT & S aT AGRAF Acad FT 50 T A ST AT
&

1. Impulses / 33T (3UcH)

2. Archetypes / 3TI®T (3TICTSU)
3. Maps / @TeT (31)

4. Schemas / UREEUAT (EHTHT)

Correct Answer :-

« Schemas / ARG UAT (T

24) Which animal was involved in Pavlov’s experiment of classical conditioning? /
P g

qigelld & FoTiee HIATAT & TIET 7 HiT-A1 Feray anfder a1?

1. Dog / dl
2. Pigeon / X
3. Rabbit / TINT
4. Rat / gl

Correct Answer :-

25) Which of Erikson’s stages of psychosocial development involves the development of a sense of competence? / TRFHT & AATATTS
e F e wor & vfaafaar i smaar &1 Rem af@Fafaa @ar 2

1. Autonomy vs. shame / FTIIAAT IATH oIl

2. Industry vs. inferiority / AT FAT EAT

3. Generativity vs. stagnation / STelellcehdl elTd FEARAT
4, Tnitiative vs. guilt / Ugel ST AT

Correct Answer :-

« Industry vs. inferiority / 3TN FAT EAT

26) Which of the following is not a hindrance to creativity? / RFaAfaf@d & ¥ Fa1 TWAHSAT F AT v a0y 78 &2
1. Divergent thinking / == &=

2. Functional fixedness / ITcad TR 3w

3. Convergent thinking / P a

4, Mental set / AAAE® dT

Correct Answer :-

« Divergent thinking / et &

27) Which of the following disorders is caused due to error in cell division?/ AP A3 F gﬁ' F sRvr Arfaf@a & ¥ sla-ar fER
g 2

1. ADHD / TEITTET
2. Dyslexia / ¥eifrar
3. Autism / 3iTfesa

4, Down’s Syndrome / 3131 T=gIT



Correct Answer :-

+ Down’s Syndrome / 3131 f&=gra

28) The practice that legitimizes powerful men’s dominant position in society and justifies the subordination of the common male population and

women and other marginalized ways of a being a man is called ./ 9€ 94T S GATST # erfFaerel g’aﬂ A o YUY A du qah
¢ 3R 3 g ey AR ARt F arefierar F AT ga FA § IR F @ AR F 3w AT aQw F wgT
ST B

1. Femininity/%ﬁ?l’

2. Emphasized femininity / &Tcd U IR &aT
3. Complicit masculinity / STfeer giew

4. Hegemonic masculinity/?ﬁ'ﬁﬁ?ﬁm

Correct Answer :-

+ Hegemonic masculinity/%ﬂﬂ e giey

29) What do you mean by curriculum? / IISIHH & 3TIHT FIT AdAd giam &

1. Sum total of the activities of a school. / Td@Term 3 afafaf=} Hr Feverar)
2. Sum total of the annual study. / a8 37T & FHIATI

3. A child learns through curriculum. / Teh d<dT UTSThHA T 3T A ¥ |

4. Indicates the course to be taught by the teachers to the students throughout the year. /C[l' Iy & fAeTpt gRT oTET P USIT S arel BIGRET]

B ST PRar B

Correct Answer :-

« Indicates the course to be taught by the teachers to the students throughout the year. /C[I a§ 3 ATl gRT SHET B USIT ST arel BIGR e

H AT HT T

30) Students can overcome their misconception for the long term through: /
Rt fufafer #F fry areaw @ s sqfRa sEurRonEt & 9R 9 R
1. Traditional teaching / uRufR@® fRreror

2. Standard teaching / FTeTeh TRI&TOT

3. Refutational teaching/ TRTeRoT fRI8TOT

4. Conventional teaching / W fueyor

Correct Answer :-
« Refutational teaching/ faRTenyoT fRr8T0T

Topic:- General English(L1GE)

1) Which one of the following is the correct reported speech of the sentence below?
Sangeeta said to me , ™ Will you join me for the movie?”

1. Sangeeta requested me would you join me for the movie?

2. Sangeeta enquired would I join her for the movie.

3. Sangeeta asked me that if I would join him for the movie.

4. Sangeeta asked me if I would join her for the movie.

Correct Answer :-

« Sangeeta asked me if I would join her for the movie.



2) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have attained enlightenment at Bodh Gaya. About 200 years
after Lord Buddha attained enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a monastery and shrine. As part of the
temple, he built the diamond throne (called the Vajrasana), attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

What material is used in building the Vajrasana?
1. Diamonds

2. Bronze

3. Gold

4. Silver

Correct Answer :-

« Diamonds

3) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have attained enlightenment at Bodh Gaya. About 200 years
after Lord Buddha attained enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a monastery and shrine. As part of the
temple, he built the diamond throne (called the Vajrasana), attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

Where is Mahabodhi temple located?
1. Bodh Gaya

2. Jaipur

3. Delhi

4. Raipur

Correct Answer :-

» Bodh Gaya

4) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have attained enlightenment at Bodh Gaya. About 200 years
after Lord Buddha attained enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a monastery and shrine. As part of the
temple, he built the diamond throne (called the Vajrasana), attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

Who was considered to be the founder of Mahabodhi temple?

1. Ashoka

2. Jhansi Rani

3. King Pratap Varma

4. Sri Krishna Devarayala

Correct Answer :-

« Ashoka

5) Read the content carefully and answer the questions given below it:



The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have attained enlightenment at Bodh Gaya. About 200 years
after Lord Buddha attained enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a monastery and shrine. As part of the
temple, he built the diamond throne (called the Vajrasana), attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

After how many years Ashoka visited Bodh Gaya after the enlightenment of Lord Buddha?
1. 200 years
2. 400 years
3. 500 years

4. 300 years

Correct Answer :-
» 200 years

6) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of the Ganga. Nilkanth arrived on the river banks where
the entire village had gathered to witness the monsoon rise of the river. The waves crashed against the large boulders on the banks, making noises
that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s prayers, he decided to bathe in the river before sitting down for
meditation. Nilkanth walked towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the last monsoon, but
Nilkanth was unperturbed. To everyone’s amazement, the river's waves calmed at the touch of Nilkanth’s feet. Even as he waded deeper into the river's
waters, he remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s desire to bathe in its water. Nilkanth
finished bathing and returned to the shore. The river's waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

Which of the statements is not true according to the passage?

1. The river remained calm after Nilakanth’s bathing

2. Nilkanth had decided to bathe in the river before sitting down for meditation
3. Ramganga river is one of the largest tributaries of the Ganga

4. The waves of the river resumed to show her fury after Nilakant’s bath

Correct Answer :-
« The river remained calm after Nilakanth’s bathing

7) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of the Ganga. Nilkanth arrived on the river banks where
the entire village had gathered to witness the monsoon rise of the river. The waves crashed against the large boulders on the banks, making noises
that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s prayers, he decided to bathe in the river before sitting down for
meditation. Nilkanth walked towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the last monsoon, but
Nilkanth was unperturbed. To everyone’s amazement, the river's waves calmed at the touch of Nilkanth's feet. Even as he waded deeper into the river’'s
waters, he remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s desire to bathe in its water. Nilkanth
finished bathing and returned to the shore. The river’s waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

According to the passage, the villagers had thronged the river banks to
1. All of the above

2. watch the waves rising up in the river

3. be amazed at Nilkanth’s feat

4. witness the monsoon rise of the river

Correct Answer :-

« witness the monsoon rise of the river



8) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of the Ganga. Nilkanth arrived on the river banks where
the entire village had gathered to witness the monsoon rise of the river. The waves crashed against the large boulders on the banks, making noises
that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s prayers, he decided to bathe in the river before sitting down for
meditation. Nilkanth walked towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the last monsoon, but
Nilkanth was unperturbed. To everyone’s amazement, the river's waves calmed at the touch of Nilkanth's feet. Even as he waded deeper into the river's
waters, he remained afloat on the crest waves. It was as if the river was accommodating this young yogi's desire to bathe in its water. Nilkanth
finished bathing and returned to the shore. The river’s waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

Why was Nilkanth at the river bank that afternoon?
1. He followed his people wherever they went

2. He was keen on showing off his yogic skills

3. He wanted to bathe before offering his prayers

4. He too wanted to witness the monsoon rise of the river

Correct Answer :-
« He wanted to bathe before offering his prayers

9) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of the Ganga. Nilkanth arrived on the river banks where
the entire village had gathered to witness the monsoon rise of the river. The waves crashed against the large boulders on the banks, making noises
that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s prayers, he decided to bathe in the river before sitting down for
meditation. Nilkanth walked towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the last monsoon, but
Nilkanth was unperturbed. To everyone’s amazement, the river’'s waves calmed at the touch of Nilkanth's feet. Even as he waded deeper into the river's
waters, he remained afloat on the crest waves. It was as if the river was accommodating this young yogi’'s desire to bathe in its water. Nilkanth
finished bathing and returned to the shore. The river’s waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

What amazed the people?

1. The river’s calmness as she touched the yogi’s feet
2. The ritual of the river rising and falling

3. The waves crashing on the boulders

4. The monsoon rise of the river

Correct Answer :-

« The river’s calmness as she touched the yogi’s feet

10) Fill in the blank with the correct option to complete the sentence:

, haven't they?
1. The spectators has taken their seats
2. The spectators hasn't taken their seats
3. The spectators have taken their seats

4. The spectators haven’t taken their seats

Correct Answer :-

« The spectators have taken their seats

11) Fill in the blank with the correct option in the given sentence:

A river that flows into a larger river is a --tary.



1. epi--

2. tribu--

3. projec --

4. orbi --

Correct Answer :-
o tribu--

12) Fill in the blanks with the correct option in the given sentence:

Innovat-- is the key to business surviv --.
1. -—-ively ... --es

2. --ions ... --ed

3. —-ion ... --al

4. --ive ... ings

Correct Answer :-

13) Which of the following options best combines the given sentences?

My result was published. It was in a newspaper. The date is tenth November, 2017.
1. My result was published in a newspaper on 10th November 2017.

2. My result was published on tenth November, 2017 and it was in a newspaper.

3. The date is on which my result was published is tenth November, 2017.

4. On 10th November, 2017, in a newspaper my result was published.

Correct Answer :-

« My result was published in a newspaper on 10th November 2017.

14) Choose appropriate articles for the given sentence:

They built _____ underwater tunnel for pedestrians below ____ Thames River.
1. No article required ... the

2. an ... the

3. an ... no article required

4. a... no article required

Correct Answer :-

e an..the

15) Choose appropriate article for the given sentence:

Tamil Nadu is a beautiful state where ______ sun shines brightly.
1. an

2. the

3.a

4. no article



Correct Answer :-

o the

16) Choose the appropriate option that rewrites the given sentence in its passive voice.
Burning gasses propel a rocket up or forward.

1. Up or forward movement propelling is by burning gasses by the rocket.

2. Rocket is being propelled up or forward by burning gasses.

3. Arocket is propelled up or forward by burning gasses.

4. A rocket propelled up or forward by burning gasses.

Correct Answer :-
« Arocket is propelled up or forward by burning gasses.

17) Choose the appropriate synonym for the highlighted word in the given sentence.

He has become an icon in the movie business.
1. villain

2. idol

3. antagonist

4. reflection

Correct Answer :-
e idol

18) Choose the appropriate tenses to fill in the blanks in the given sentence:

the award from the President, he ___ to underplay it.
1. Receiving... was wanting not
2. Receiving... didn’t wanted
3. After received...wanting
4. Having received... didn’t want
Correct Answer :-
« Having received... didn’t want

19) Choose the appropriate antonym for the highlighted word in the given sentence.

How do we eliminate the malodor from the room?
1. exclude

2. banish

3. accept

4. freeze out

Correct Answer :-
e accept

20) Choose the appropriate conjunction for the given sentence.



I did not go to the movie _______ I had already seen it.
1. until

2. but

3. 50

4. because

Correct Answer :-
« because
21) Choose the appropriate prepositions for the given sentence:

Educating children home as an alternative formal education is an option chosen many families.

1.in..to..into
2. at..to.. by

3. at ... against ... in

4. from ... to ... for

Correct Answer :-
e at..to..by

22) Choose an appropriate modal for the given sentence:

Some cricket fans have done anything to watch the match yesterday!
1. would
2. must

3. will

4. could

Correct Answer :-

« would

23) Choose an appropriate determiner for the given sentence:
student was distributed a pen on my birthday.

1. Each and every

2. Few

3. All

4. A few

Correct Answer :-

e Each and every

24) Choose the option that best explains the highlighted expression:
The bottle-opener’s a dead loss.

1. useful stuff

2. worn out in parts

3. useless

4. dead material

Correct Answer :-



¢ useless

25) Choose the most suitable pronoun for the given sentence:
Did you do all the work by ?

1. oneself

2. myself

3. yourself

4. herself

Correct Answer :-
e yourself

26) Read the sentence carefully and choose the option that has an error in it:

One of the students were blind.
1. One of

2. were blind.

3. No error

4. the students

Correct Answer :-

« were blind.

27) Choose the appropriate tense to fill in the blank in the given sentence:

Although it throughout the night, the sky was clear when the IPL match started.
1. have been raining

2. was raining

3. has been raining

4. had been raining

Correct Answer :-

« had been raining

28) Rewrite the following changing the active sentence to passive.
I begin my work daily at 10 o'clock.

1. Work is begun by me daily at 10 o'clock.

2. My work is being begun by me daily at 10 o'clock.

3. My work has been begun by me daily at daily at 10 o'clock.

4. My work has been begun by me daily at 10 o'clock.

Correct Answer :-

o Work is begun by me daily at 10 o'clock.

29) Choose the option that substitutes the given phrase appropriately.
Dance or musical performance

1. Drama



2. Docudrama
3. Street play

4. Recital

Correct Answer :-
« Recital

30) Choose the right tag:
He will help you, ?
1. won't he

2. won't you

3. will he

4. will you

Correct Answer :-

« won't he

Topic:- General Sanskrit(L2GS)

1)



uR=de afScdr TReed YgeHcel Jadd -

fgATerd: O Hafed: 9dd: AT | U¥: &R 3ca&dl f&fr add |
3T I Y Wed feRe afigan: fassfed | gar g seafd dar
TANT A5V RA THTART | @A Hafod: A5 Talse Al
UGS | 36T 3ed Ul A3 foristehan: afed - @wueeisa,
e, Hehlel, YN, 3feaAqoll, dierf@oii: s | AT @IS
3eipifel FIRIMOT Aied | TAT TGRI-AAITR-HSI-TT- FRIFT-HGL-ITgaTel-
AATTeT-3eAIST-GI S [IgaT- R a=ToI3oN Scled: | TAT T §HheT:, FediarT:,
hEREATT: S ufanfor e et va fagged | ey, faurer-
SUdd-TegdleTeley: AR Td fAfsfrd Id: ddde: #Rad
faemera sppereT Risoe @FveEd | oA sgfa sRuan afed a9
3TOIAT: SAATaeT: J&: Wigled | o ga: IF IEHAAVTT FHSS YT
| fRATIEAT: dX9: UGUn: SdRT IFEAFI BI-dTdIG-3HETIC-AI-heR-
UeIcilel 3OS Uerelle] Ieoiecd | fearerard fafaar: @idergeram: 3w
e | RATerad fafdur: Hedded: gmom: ST grmed | AT
EATH SAFT vpd FET |

% YT RATTITT Y o TeId ?



eellhl GfScar srenfafdscea weaed gdac aad -

USdl A HWcd Sl ATEd UTceha ]
FHIfoleT: shefgl AMEd o T AN STI: i
fearel Tarq fAarh Tard. Fesiteh Safega: |
TR eagehsels G favaAmE=d

T holg: Aled ?

(oY

* TSade A JAIde AT -

Correct Answer :-

ch|ch‘|oj\q'%‘|qai

4)

‘Teh' Ul ﬂgachﬁs;qu fore 2



TR=SC Ifdcar 9eaed YgHcN FAId -

T Fodl A FAGSAIEA | T I AH TARANA | Thal
HEAT afdehed oo dRIec: TIRRINT: AletedR FRIEGIey: e
YTl FgT: T fAdfeara | e T aidegREEfedy - ¥ ¥
SIREEIE ugﬂsﬁT ANl IRl gelical ARSI AR | dcl
ST ITARYEITIIRINT: YEART &dT: | Teufsded- T T aTaehges:
TITART ToAIfAEAT TT | Fa=il TS Fegdel HMafdcal A AR |
TcAlsgHADT Hecll el S | A Fd AsEd IATT | Tl o o
JelcaT AT ARIG | o facam ATeis fased | aider 39: - T IR
TEVTEH, FERATAAEAIST | Wsﬁm?ﬁﬁ@m
? &Y a7 darHEY {9 sfurel I idedr ? AR 3dmd - T aiden: o g
RIS o 741G sl AATT Taaed ol Tehaedl Hgard
facar | & @ facumErdhadAsdt TsHeaAT v UwIE: heled: |
e dRET det: TQIfAsRIIde ardsh: a1 ardl T fadfedr |

Ql:ﬂ%l?jalﬂi Eﬁ(jﬂa g'c,§§io-(_-| -
, TR
il
3 UHd:
. BIGEDE



eellehl afScar reNfAfEsery eaed g YT -

g:@uqogqj‘&‘ldddﬁm: ﬂ@g faeraege: |
dicRreTsTashre: feuadidfae=ad |
defafguiorards aitueaAe daar |
Iuceafed d A AfAAEdcagieeT: |

q:WY dIEw: #7Id ?

2elieht fScar srefafévera Tty Al EA -

7)

USdl AT HWcd STl AEd dlcens ]
HIfeeT: Pelgl AT o 8 T STErd: |
feanel Tarq Al ward sesist Safeaa: |
TIAReageansele e [aoAm=r i

Plerelloll 5caed IJATsTEd -

| GETHST
RECICEIE])

, TFRICTsS]




CEEAE G
e |

4.

Correct Answer :-

AT

UR=dE afScar TeTed A’ JIA -

I Fedl A FIRAGSTE | TET GO FAH TR | Tohal
FEAT GfARET o TRIed: TaRRIRT: AieHedk TAEJILN: JTCcT:
JsTeled  §gn: A fAdfeara | Ter T OidwgREEfedy - T X

e

gIAhYeTT:, TqUsTT ARIAT  FAIRICdRelcal ARSI ARAT | ddt
TSATAAT TARYEITAIRANT: YA &T: | TdAfsged- T T ardehyes:
TIRART FEATHGAT TT | 3 oIl FAedde Addcdl Al ARIT |
IcltsgHanT Agdl faean S | AR §d @sed aeafd | wer g i
?@ﬂaﬁaﬂwg | Sdﬁwﬂﬁﬁmlmﬁg:_?w
JENTeH, qUEAAAEGS | fhadisi shfaqfaesfa ? & faear srafa
?$uaamwﬁwmﬁﬁaﬁw7fﬂtm T grde: fo gor
PUSTHASTEN FHATET ?gfe Tl AT dGIaT del JEIdcar Hpdld
ﬁmlﬁaﬁmaﬁuﬁaﬁrgmmﬁqﬁwm.mm
TS ANET Feret: FafAsrRia arash: | ard aa @afear |

IR Fd TIET IAfd -



URTSE gfScar 9oy AR I -

GaTerr: 99R gafea: udd: 3Ied | W R 3caw&ar Bfr add |
3T IO YN HWed feAel gRgdn: fassfed | ¥er g3 3eafd aar
TANT 5N A THAGHART | RATGRET afed: HSe: Tase AT
UGS | 3T 3 9fign: A9 AErsfedrn: afed - ha-ssm,
BN, Hhlel, Y3, 3feaqol, dienfail: scaed: | AT His
il AIOT Ao | T G- AT -HS - TaIT- RIEelT- A {-ITgarel-
?\Fﬁmﬂ—m—aﬁﬁsﬁ-wmﬂggdn SCAIG: | dAT I gSIher:, delleIre:,
hERATT: S afaanfor heffay fRared va fagged | ey, farer-
SUadl-degdlecd: A T fiesfed Id: ddes: #ARaE
faererra speed 5o WFuead | feAed S sRuane afed I=
3ETUIAT: SATATaeT: J&: igled | o agﬁ ag EEWTUTRI PSS SIS CE
| RAGIEAT: X: UGUT: odRd  AEAET  AI-aIdIG-ITEIe-aI-heR-
TeIdlel 3O Uardel Teaiecd | fedATorard fafaem: @fdsagran: 3ifa
f3ded | fedrerard fafqur: Hegaed: gmwmom 3T grcaed | fRATer:
3EAT GAET Ul e |

‘TS ed | 3T & TP ?



e

4.

Correct Answer :-

1

.
’)Clﬁ?&‘cl“ IfScar 9T YEHN FIAd -

fAer: §OR Haflea: uaa: 3IR’d | ¥ 6Rd 3cawear fGfer add |
3T 3T YO Wed feRe afgan: fassfed | gar g seafd dar
Ty Hgeen A IHGHERId | RAETGRET Hdfem: A walse A
UGS | 3T 3d UBEn: A3 fAristhan: afed - wueeisa,
BN, #Heblel, YR, 3feaqull, dienfaiil: scAET: | RACRET @IS
3eipifel FIRIOT Aied | TAT TGRI-NAITR-HSI-TT- FRIFT-HAGL-ITgaTel-
ﬁ?ﬁm—m—aﬁﬁsﬁ—wmﬁ%gdu SCAGT: | dUT T EYIher:, SGIIT:,
hEREATT: SAIA afaor el RAred va fagged | ey, faurer-
SUTd-TegdeTeiey: RAER Tad fafsfrd Id: ddde: #RA
faemera sppereT Risoe @FUeEd | oA Sgfa sRuan afed a9
3TOTAT: SAATaeT: J&: Wigled | o: Ja: IF IEHAATT FHSS YT
| fRATeTEdT: O@: UGUn: WdRd IHEAFT  QE-aIdiG-3ele-ard-$heR-
UeIcilel 3OS Uereile] Ieoied | fgarerard fafger: @fdergeram: 3w
a8ded | feATerard fafdem: Fedged: umwom AT gwed | feATer:
HEATH SR U IR |

Correct Answer :-

_ ohrelY



12)

UR=dE afScar 9o A’ JAA -

I Fdl A FIRAGSTE | T GO FAH TR | Thal
FEAT GfAhed o TRIed: IaRINT: AleUeaiR TARGIEY: IedT:
YsTeled g1 U fAdfganra | Ter T oidegREEeeer - ¥ X

oy

HIAhYeTT:, T TRIAT, AIRICdR=lcal AARIT ARIA | ddl
AT TARYEATAIRANT: YA &= | Tdelfsged- T T ardehges:
TIRTIRT JSAIMHAEAT TT | FaT=il Tsl FAegdel HMafdcal A1 ARIAT |
IcltsgHenl Agcl fdeam Sema | AR fd @sed Ieafd | e q
E@WHTHI{H(:ID | Sdﬁmﬂﬁﬁmlamﬁg:_i‘w
qENTH, JUTAAARIGS | fadtsiy sifagfazsfa 2 a1 faear sefa
? U a1 qaruAEd fdear surelel Fgdedr ? 9 3am - ¥ RIGEAE fa sor
ISTRISTT hfAese ?gfq T AT Teraed del FQIdedT A
faear | fF o facETdhadsdt IHSTAMT TN UHIG: Feled: |
T AT aefel: TIAPRiEid ardh: A ardr T fAafear |

Alceredly TEqyey: Td 8T



P

2.

mw—aﬂﬁr-aﬂ@r:

3
3elch HHATH:

4, 2"

Correct Answer :-

mw-c‘»iliﬁl-aFgﬁr:

Yol afScar JrafATEser Teaed Yeaccl YA -

TS
e |

a1

efaveraaT: qay fFaraeyg: |

E



) K[ EIGE

Correct Answer :-

® coltet ufscar steifAféseed Ueaed Ygec] P -

TSl AT HWcd STl AEd AT
AMfAeT: shefgl AEd o & AN SAId: i
fearel Tarq A warq sesist Safeaa: |
TR agehsels] JIGHAT favaATRrETc I

Aol scava f9ae: =g -

 Jifearelt

, SRR

| ITARTAATRIT
, Tl

Correct Answer :-

_ 3TfAarel



UResE afScdl TR AR FIAd -

GATeR: OR dafea: ddd: 3d | T¥: #Rd 3cdiedr Gf add |
3T I YO Wed feAa aRgar fasofed | Fer @@ 3eafd dar
TdY 3N RA gHGHERIG | RATGIEd Hafed: A5 walse Al
UGS | 3T 30 Ul A3 ferrstaan afed - @wmuesisa,
BN, Hehle], UIY, 3feaAyoll, dlerfail: s | AT HIS
Ieipifel FIRITOT Aled | TAT AGH-NAITR-HS-TIIT- RIFTT-HAGI-ITgaTel-
E‘\Trﬁmﬂ—m—aﬁﬁsﬂ—wmdggdn SCACY: | dUT T EUIher:, SGIAT:,
FERATT: SR ufa=nfor feffa RareRt va fagged | adg, faurer-
SUdd-TeadleTeicy: AR Ta fdfesfra 1 ad@e: #RaE
faurera spered Risod @Fdead | fede g snuafe @fed =
3TITOIAT: AATaYT: & Wigled | o: J&: IF IEAAVTT HSS YT
| RATCIEAT: dId: UGUT: ofdiRd HEAFT  QI-aIdIG-31&ic-Arg-cher-
UeIclle] 3MEITUIAT] Uaredel Jeaied | feHTerad fafdem: @idsagran: g
3 ded | fedrerad fafdur: Hedgaed: gmwmom: 3T grcged | feATer:
HEATH A8 Ued 3fed |

feATerISm: T e gRgar: fassfed |



UREBE UfScdl YR A FIId -

I Fdl A FIRAGSTEA | T I FAH TTRI, | dahal
HEAT GfAhET o TRIed: TaRLIRT: AloeaiR TREJIey: JIedT:
YsWeld  FgT: T fAdfeara | e T aidegREEfedy - ¥ X

Lo~

GIqhYeNT:, IS IRAAE AIRICS gellcal YA ARIT | T
TSIRTAT STARYEIEAILANT: AR gl | Telfsaad- T T oy
TIRTRT FSAIMAGAT TT | F&T=il Tslel Fegdel HMafdcal A AR |
Tcltsgatenl Hgcl fdeam S | AR fd @istd IJeafd | o q
eIl AT ARIG | de @ Acdeld fasdd | aider 39 - ¥ 9R
TENTYH, FUFAAARIS | fhAatsia sifagfazsfa 2 a1 faear st
? & al JdTIEey fdedr surel AEaedr ? 9 3arda - T ardehr: & §or
ISR hfAesd 7gfe T AT deraed del FQIdedr HAgdd
faear | fF o faeETdhadsdt JOHSTAMT USOT UWIE: Feled: |
T ARET Iuet: TSR aidsh: & ardl T fAdfear |

$|}z.?:||a:|\ 3—]?]' QII}III—’II(—L -

2. 2 :
, ST

Correct Answer :-



oollenl afScar rafAfisera Teaed YGHe FIAT -

velieh! fSear Tefafévesy weaied AGHccl FEA -

g:@maaﬁmw: qi@gr [EEIGE S
dicaRreTsTashre: feudadisfae=ad |
defafeuitardsr aitueate daar |
3ucedfcd o A AfAaEdcagiee: |

dcagielet: fhe 3uceafled ?



Correct Answer :-

9ellohl Ufscar srenfafesesa geaey gﬁgcdi g -

g Wsaeg aIH=T: JUY fIITdeye: |
dicRreTsrshre: feudefafaezad |
delafguivurdsT gitues= daar |
3ucsTfed d A AlfATEdcaGre: |l

Afd: ScgieAs] 371 30T &: Usq: TIFA: ?



Yol UfSear sreifAfésesy Teaed gHcel Fadd -

TSl AT HEc Sl AMed dTceha |
FlfeleT: el AT o 8T I ST |
feamel Tarq Al warq sesist Safega: |
TeTeARTeagesele G favaATE=d

HEAT UTdeh ATTEd ?

\ ddGRT

Correct Answer :-

1 2 -
ddl:
2. ﬁD



EREZE

Correct Answer :-

4.




URTIE ITScdT TRATT UGN Jadd -

I Pl A RIS | T GO ATH AR | Thal
FEAMY Ifdhtd U dRIed: TaRRANT: AieeediR TRIEggey: g
YsWelA  FgT: T fAdfeaRd | TS T aidegREEfedy - ¥ 3
EIGEREEI ugﬂsﬁf ANl ARG gelical AR AR | ocl
TSATAAT EATRYIITAIRANT: YA &cT: | Tdfsded- T T ardehyes:
TIRTRT FoAIfAGAT TT | 3a=i1 T FAegdel HMafdcal A ARIAT |
TcsgHDT Hecll fdedl S | A Fd Hstd AT | Tl o i
JElcal AT ARI] | a4 g AcTeid fased | aider 3d: - T IR
qENTHH, JUTAAAAIAST | fhactsia shfadfazsfa 2 1 faear st
? & a1 darFEEy {9 sfreld Fidedr ? 9 3d - T g b g
RISTRRIET Siesd 731G TSl AEATT TeEed o AETaedl Hgdd
fder | & 9 facumardhadsdt JsHeAT veon g dded: |
AEdET dRET et TaifAchri={de ardeh: &1 ardl et fAafedr |

‘TracAT AT UcIT: IHEd-

G’ -



velienl afScar srfAfésesa Ty eacel I -

gadl Afed AW SIUdr ATd e
FlfoleT: Selgl AT o 8T A ST |
fearel Tt fAarh Tarq st Safaga: |
TRIeARTeagersels JREHA faTARET I

Srafega: scas gamastE -



uR=de ufScdr UReed YgHc FIdd -

BHATCR: TR dafed: Ydd: 3Rd | T¥: 8Rd 3cadi&dr 6fr add |
3T 3= YO Hed feRe afgan: fassfed | Jar g3 seafd dar
TaY Hgevn RA THTHERIG | RAEGRET Hdfew: AT Talse A
UGS | 3 38 Ul A3 foristehan: afed - @maeeisa,
BN, Hehlel, YA, 3eaqoll, dienfaiil: sAET: | AT @IS
3eihifel FIRIMOT Aied | TAT AGI-NAITR-HSI-TT- FRIFAT-HAGL- TG aTel-
?\Fﬁmﬂ—m—aﬁlﬁsﬂT—wmﬁ\ggdu SCAGA: | dUT T EYIher:, SGIIT:,
FEGRATT: SN ufaanfor feff Rared va fagged | ey, faurer-
SUad-deadleTelcy: AR Tad fsfrd Id: adde: #RAE
faerera sppereT fRisoe WFueEd | feAey Sgfa sRuane @fed a7
3TITOIAT: SAATaeT: J&: Wigled | o: g&: IF IEEAAVNT HSS YT
| fEATREAT: di@: UGUn: odRd IEAFT A-dIdIG-3HETIC-AI-HeR-
UeIcilel 3OS Uerellel Ieolecd | fgarerard fafdem: @fdsrgeram: 30
d3ded | fearerard fafqur: Hedgaed: ummom: 30 grcaed | fRATe:
3EATR ST Tedl J1TET |

‘ 5g6Y: ' 5cOF & Wied: ?

1. CEUCE
, T
5, 901
4. dre:

30)

ATRIIET HdT HEa-
1. < :

eIt
2. (3N

a&?ﬂ%ﬁ?{:

3



4.

Correct Answer :-

Topic:- Social Science (SSC)

1) Which organization has established the Financial Mechanism named 7he Green Climatic Fund? | foa gmea A q piC) Wné?r% HE A9 1
farita worrelt wifie #t 82

1. WWF / Seo5eequ®

2. UNEP / JuaTgdr

3. UNFCCC / JuaATHERE
4. UNDP / guaasTdy

Correct Answer :-

+ UNFCCC / UATHHH T

2) Which Greek ruler or ambassador became Vaisnavite and erected Garuda Pillar at Besnagar? / f&rd QFI'F-ﬁ RMEP I Ieigd J qwrdt TR
FHTR A T8 WY g7arar?

1. Alexander / 3TeldraizY
2. Selucus / ﬁﬂ?h_\q

3. Heliodorus / &ferasiR&
4, Demetrius/ aﬁﬁra'a

Correct Answer :-

« Heliodorus / m?lw

3) The main objective of setting up a social science library is: / TS ﬁ?ﬂ:l' J¥IhTer™ T B3 BT a1 G%W %I
1. For recreation and enjoyment / ARSI 3R 3¢ & forw

2. As place of preparation for competitive examinations / JfaaIIfT qfiem3tt i I & TUT F &7 A

3. To enable the pupils, engage in self-study and for reference / it @1 TI-3egTa F Holvd AT AR el & T JgTH g1

4. As a common place for independent study / TIdT HEIAA & folw U THAT 98 & &7 H

Correct Answer :-

« To enable the pupils, engage in self-study and for reference / Frafdat @ Tg-31eaga & Tova war 3R Tt & T geter a9

4) The evaluation which compares a person’s knowledge or skills to the knowledge and skills of a particular group is known as: / 98 HW'W’_'{ il

fopeft safaa & w1 3R Prwrat 1 gorem forelht fadly W & 7 ok Piore & BT @
1. Criterion-referenced evaluation / AT -He faTd 3{?&'@?{

2. Formative evaluation / THUTcHA® / ITTAlcHD FHedidhd

3. Norm-referenced evaluation /37fIGTRY EFLFQII'I?-IFT

4. Summative evaluation / AWMcHE / Hheldlcan / 3ifaa ?FLFQW

Correct Answer :-

« Norm-referenced evaluation /31&RIT EH(»ZI’EF'F!



5) Milindapanho text is in the form of a dialogue between the king Menander and Which Buddhist monk? /

fAfigues 7y T Pevs i frw dlqy ey & o ardienT @1 9ol 2
1. Nagasena / arrad
2. Nagabhatta / awTHCC

3.Nagarjuna / AR

4. Kumarilabhatta / AR #ee

Correct Answer :-

+ Nagasena / &Ta=

6) A Commission to review the working of the Constitution was appointed by Government of India under the Chairmanship of . HRT

TR @RI #1 Iregeran # WU F FE A g F A v ImAver Agwa B
1. Justice Sabyasachi Mukherji / FH'RIITJ{% gegard EEEGﬁ

2. Justice Ranganath Misra / quﬂ{ﬁ LTy s

3. Justice J. S. Verma / =aTIa{fd I.TH. T

4. Justice Venkatachaliah / =TIeifd dereaerar

Correct Answer :-

« Justice Venkatachaliah / =TIayfd deheaerar

7) Topics of study suitable for the age, ability and interest of children are included in the curriculum are known as ./ F=at & 1y,
gwan AR I F AT 3wy rewww & Rt # gogwa § affte G Srar §, O wer S g

1. Topical approach / HTHARI® TiEeHOT

2. Unit approach / s&1$ gfahror

3. Spiral approach / Tfder Tf¥epror

4, Chronological approach / aﬂﬁlﬂiﬁﬁ?ﬁ TTEeIoT

Correct Answer :-

« Topical approach / &R TiE®0

8) When farmers sell a portion of their agricultural goods in the market, it is called ./ 99 FAE, IR # 3rgelt E!:Tﬁ' 31-7'_!;31']' HT TH
e aua € 39 Fgl S B

1. Marketed surplus / foforg rfadw (?FI'I'J%?; Tl H)
2. Marketed output / fafora scarea

3. Surplus goods / ATAAY AT

4. Total output / §eT ScUTGed

Correct Answer :-

« Marketed surplus / faafora Ay (Hféiag Tl H)

9) Black money is also known as . /ST o F F w9 A sit S Svar #
1. Dynamic economy / e rdcTarar
2. Moderate economy / FEIH 3rdcgaear

3. Parallel economy / HHIATAR JIcTaedT



4. Stagnant economy / TR 31Tz

Correct Answer :-
« Parallel economy / FATATR 3TIcTaET

10) “Nature provides opportunities and human being make use of these” is central theme of which of the following geographical philosophy. /

YA IFEET eI FAl § 3R AT s IuAT Fan ¢ e F @ frw sinfew g & & Rww 2
1. Possibilism / HeTarTg

2. Marxism / STFIAIE

3. Feminism / AR@TG

4, Determinism / fEafdarg

Correct Answer :-

« Possibilism / Gdarg

11) In which case the Court ruled that nobody, not even the Parliament (through amendment) can violate the basic structure of the
Constitution? / fre AT # =arTe & $war far F F15 s, 781 a F wwg (Wulue & AegA /) WU & 77 oS F1 seud
dt T FHaT &2

1. Minerva Mills vs. Union of India / feral f@ew samer siRa @

2. Mukti Morcha vs. Union of India / ?ﬁﬁ? AT 9IH HRA T

3. S. R. Bommai vs. Union of India / TH. 3R. Q&S I8 HRT T
4, Kesavananda Bharati case / heTdlelg, Rl FehioT

Correct Answer :-

« Kesavananda Bharati case / FAATAE TR TehIoT

12) Who established the Indian Statistical Institute? / TR WITEITHT TEATT I TAGAT Faat 2
1. Jawahar Lal Nehru / STaTe ol ag®

2.V.K.R.V.Rao /@I. &. 3R. dI. 7@

3.R. C. Desai / 3R, &Y. ¢OTS

4. P. C. Mahalanobis / dT. @Y. Wﬂ’lﬁ'\q

Correct Answer :-

« P. C. Mahalanobis / UT. @Y. Fgraaad@

13) Who can increase the number of judges if deemed necessary?/ﬂﬁ.’ HEIH GHSAT ST ar =arrefiet Y FEr Fie §¢GT Hehdl 0
1. President / Trgufar

2. Chief Justice / T ITATHA

3. Parliament / G

4. Cabinet / A¥Hs

Correct Answer :-

« Parliament / §I¢

14) Who is the exponent of Play-way method? / Ta-d R & gfaures i &7



1. Maria Montessori / #TRAT AT
2. Friedrich Froebel / theRes whldel
3.D.W. Allen / &I. Zecg, Teld

4. Jean Piaget / Sl et

Correct Answer :-

« Friedrich Froebel / &R e

15) Who can create Vidhan Parishad in a State? / TsF & Qurt aRwg &1 @A#Ar sl FT gaar 2
1. Chief Minister / &I

2. Governor / STl

3. Cabinet / AAHS

4. Parliament / ¥4q

Correct Answer :-

« Parliament / ¥4

16) India Gate was built as a memorial to the soldiers of ./ 3T A F F A f Fﬂﬁ' # UH TARS & T A
SATIT I-AT UT|

1. World War I /ugel faeeagg

2. Indo-Pak War 1965 / HRd-UI® & 1965
3. Bangladesh War /HT’FI'I%'QT &

4. World War 11 / 3¥R favags

Correct Answer :-

« World War I /Ugel faRagg

17) _ has the sole right to mint coins. / F 9 R{FH e FT tHAH AVER §)
1. State Bank of India / RATT T dh

2. The Reserve Bank of India / HRAT Rard dh

3. The Commerce Ministry / CHEIE I EICE

4, The Government of India / ARd IIPR

Correct Answer :-

« The Government of India / AR TIPR

18) is a community-based poverty reduction programme being implemented in Kerala for the emancipation of women. / , el

# afgenst i gfFa F Qv & goEgR-smaRa sl Farer F&FT 8
1. Kudumbashree / %ﬁ&ﬁ

2. Kudumbayogam / W?TET
3. Kudumbasametham /WW

4. Kudumbavilakku / gaicdoerd

Correct Answer :-

« Kudumbashree / g@ﬁ"iﬁ



19) evaluation is school based and aims at all round development of the student. / HW Tqel ik § ik o &
watefor faww &1 @8 ¢

1. Intermittent / 3TcRTII®

2. Continuous and Comprehensive / dd 3R camas®
3. Periodic / ATHAR®

4, Phase-wise / TXOT-dIX

Correct Answer :-

« Continuous and Comprehensive / Tdd 3R camash
20) The members of the Rajya Sabha are elected for a term of /TSI 9T & HSEAT BT - ¥ FRiFT & AT T':FlT SITdT %I
1.6 Years / 6 ag

2.2 Years /2 a¥

3.4 Years /4 Y

4.5 Years /5 ag

Correct Answer :-

e 6Years/6 ay

21) The Directive Principles of State Policy have been adopted from Constitution. / 7T ANfY F e A acat # &
wfus @ =TT I g

1. Netherlands / e3els
2. Swedish / EdifEer

3. Irish / 3R

4, Canadian / hafeael

Correct Answer :-

« Irish / 3mafer

22) The Pioneer of activity-based learning is J wfafafe-smaia e & gaa dvs gl
1. John Dewey 7/ S &

2. David Horsburgh / 375 gieiest

3. Robert Slavin / ¢ FaTfad

4, Adam Wesley 7/ TsH aTel

Correct Answer :-

« David Horsburgh / {5 gideret

23) The emission of gas as a result of the greenhouse gas effect from various agricultural activities causes negative impact to the

society. / Rffesr R wfafaftat & deesw da F wma & Romrraes AT F IS AT W AFRICHF TG
e B

1. Chlorofluorocarbons / &FelRIFRIATIA
2. Helium / @forast
3. Nitrous oxide / ATS¢H 3FATSS



4. Ammonia / 37T
Correct Answer :-

« Nitrous oxide / ATS¢H ﬁm’l?{s’

24) The technique for generating creative ideas and solutions through intensive and freewheeling group discussion is known as ./ Mg

3R PR Togaal F ATEIH F WAIAF QAR 3N FAUS 3e9e F A dAld P F T H AT AT
1. Panel discussion / tael @@t

2. Brainstorming / fgefrere

3. Dialogue / dTg

4. Debates / drg-faarg

Correct Answer :-

« Brainstorming / gf&efrerdr

25) The Integrated Rural Development Programme (IRDP) was introduced in . Gﬁﬁ AT R FEFEH (IRDP)
# 3ReT fFam I am

1. 1971

2. 1973

3. 1966

4. 1978

Correct Answer :-

« 1978

26) Which of the statement regarding Barbara caves are true? / TR&XT TFL‘*HT F ey ¥ rfe@d & @ s a1 Fu7 7 2
i. These caves are the oldest surviving caves./ ¥ 'TFI'@" irr: ) EI,TFﬁ sifaa ?__I;WI"!'U gl

ii. They were built during the reign of Ashoka. / ST AT 31eF & ATHAFIT §'3TI' 7|

iii. They were dedicated to Ajivikas. /& 3rlifa®r # gaAfia 4

1. All are correct. / T TR Tl

2. Only ii / &adl ii

3. Only I / hael i

4. Only iii / hael iii

Correct Answer :-

« All are correct. / T TEr &

27) Which of the following has highest Albedo? / freaifaf@a # @ fraar Yedist (yamemegara) wad faw ghar 82
1. Fresh Snow / dTeft R
2.Sand / ¥

3. Forest / del

4. Dry Soil / §@Y #ar

Correct Answer :-

« Fresh Snow / sl i@



28) Which of the following was the main objective of first five year plan of India? / RF=faf@a & & =la sma i vaw gaadfy s #
AET 35T U7

1. Service sector growth / Tar &7 Ao

2. Industrial growth / A faera

3. Agricultural growth / Efﬁ Trepre

4. Growth in manufacturing / fafaator & e

Correct Answer :-

« Agricultural growth / Tf@ Terg

29) Which commission identified 3943 castes as Other Backward Classes and recommended 27% reservation in government and semi
government jobs and admission to educational institutions? / Ry T o 3T ﬁw TN F T H 3943 sfadt A ggaer A 3R TR
T It aERT AERET 3R darOrF wEuEt F wdw F 27% Raror i RAwRer Hwe

1. Kalelkar Commission / @TelelehY 3TTATIT

2. Mandal Commission / el 3TAY4T

3. Ramanand Prasad Commission / JT#TAE TS 3T

4, National Backward Classes Commission / Tl'gl'q I EE) ot 3T

Correct Answer :-

« Mandal Commission / H&of 3T

30) Which Amendment introduced the word ‘Socialist’ in the Preamble to qualify our ‘Republic’. / fFa e & AR 'II0Td HY 3gam
qred F F T, yTdEdr #§ 'GASERr e Y A fRAT ™ ATl

1. 4ond
2. 46th
3. 48th
4, 44th

Correct Answer :-

. 42nd

31) Social Science exhibitions, fairs and cultural shows are meant to ./ gEfae e ‘E’Qi';ﬁ, aa 3k ?IT{-T%TF FRIGH FT S
gl

1. provide a creative channel for learners / TRIGTIIAT & forw T T SATcAD AT Ue Pl
2. show the talents of social science teachers / HTHTIoI Toreler A& Hr gfas @

3. increase the reputation of the school / gl P UTABT @A

4, invite and entertain the parents / FTIT-TadT T ITART 3R 3AFT FAARSTA BT

Correct Answer :-
« provide a creative channel for learners / TRI&TTITT & T e T ;SFlcHD TS Yelad Ham

32) To know the opinions of learner’s on the ‘Right to Education’, the teacher uses which of following processes? / fRrem o1 SifYer’ fawg W Rrenfiay

FI I A F forg, Rigre Frafefea o @ fa ufear w1 3uai s=ar g2
1. Shows a video clipping / Tch A fFafter fgmmar %I
2. Gives a project / trF\TEﬁGIﬂT(Cﬁ@?E)é‘dT%I



3. Conducts a discussion / TAT TANTSIT & %I
4. Provides a problem / Tch HHAEIT aFIT %’I

Correct Answer :-

« Conducts a discussion / TaT Ao I %I

33) The term ‘Civics’ in Social Science text changed to ‘Social and Political’ with the recommendation of: / Ao @A 9e & feT & 31?]’@?1 T

'ARE A’ Ao A HHITIF IR Terelfaw' A ager Rmm awm: -
1. Secondary Education Commission / FTegfRSe AL 3TN

2. NCF 2005 / UeTHITH 2005

3. Justice Verma Committee / =JTd AT TTATT

4.NPE 1986 / TAUIS 1986

Correct Answer :-

« NCF 2005 / TAHITH 2005

34) “The central function of Social Science is identical with the central purpose of education i.e., the development of democratic citizenship”, was stated by: /

gt e 1 F0 w1 Qe F FT 35T F TAE ¢, 39T, dwdiiag anREar &1 [, 3§ @ garn Fe 4w a1
1. James High / S8 &%

2. J.F. Forester / S1.U%. BT

3. John V. Michaelis / i dT. FATEHfora

4. Edgar B. Wesley / USIR &T. &l

Correct Answer :-

« John V. Michaelis / SfieT . ?Flm

35) In Vedic Era, Akhyani was the goddess of which of the following? / s T # rgavl” Arfaf@a & @ Fadr 3@ o
1. Forests / del

2. Rivers / AT

3. Fire s 310

4, Peace / Mfd

Correct Answer :-

o Forests / del

36) The scaled-down teaching encounter in class-size and class-time is known as, . [/ heaTr F WMFHFR 3T FaT & AT A RAayor F
HTHTAF FHT HT, & T F AT AT §

1. programmed instruction /AT A&y
2. micro teaching/&H TALTOT

3. simulation /WQFT (3FPR)
4, team teaching / ST TRI&TOT

Correct Answer :-
« micro teaching /g8 fRy&ToT

37) Which of the following cities was the capital of India from 1772 to 1912? /



Frafafed % ¥ & a1 3R af 1772 @ 1912 9% YRS $1 Twrur A2
1. Daulatabad / ANKIEIS

2. Delhi / faeeft

3. Bombay / SI

4, Calcutta / il

Correct Answer :-

o Calcutta / ddddl

38) Ahmad Shah Abdali invaded India for the first time during the reign of which among the following Mughal Emperors? / Frafafeaa ga
TuTel § ¥ fhad ISTa | 3gHe /M fgTelt 7 YRd UR Ugel a1R 3TehHvT farar u1?

1. Ahmad Shah / 3&dcq TS

2. Muhammad Shah / HeFdAc ATe
3. Shah Alam-IT / Qg TelA-II
4. Akbar-1I / 3ThaR-11

Correct Answer :-

o Shah Alam-II / & 3TeTH-II

39) CCE stands for: / m BT HAAT &

1. Continuous and Cumulative Evaluation / &ad 3R FaT He e (i€ ~qId Us FgHeifcd 3deger)
2. Continuous and Cumulative Examination / Gdd 3R T g (cth-é‘lrﬁ}lH s q-ékdj\dﬁd Uﬁﬁ?ﬁ’l?—r)

3. Continuous and Comprehensive Evaluation / Tdd JUT FfIaR0T Hedithe (Pleclegad TS DlFMelad Sdegud)
4, Continuous and Comprehensive Examination / Jdd quT AIdaR0l GRI&T (Hi<-gad US HIBiTgia Tael-Re)
Correct Answer :-

« Continuous and Comprehensive Evaluation / Tdd AT &fdaiu EFLFHTZFT (Pl BRES TS diFieicad SdeYRAd)

40) The exponent of theory of multiple intelligences is: /a'g'-uﬁﬂrr Rrem= ¥ ufaures A= %
1. J.P. Guilford / ST, OV, forerers

2. L.L. Thurston / Tel. Tel. U

3. Howard Gardner / ?-'T?lé' M

4. Robert J Sternberg / JG¢ ST T&Adar

Correct Answer :-

« Howard Gardner / Blds IS

41) Branched programming is also known as: / Fies Wi @) e 9 & ot S e %I
1. Intrinsic Programming / 37idfRes wramfaier

2. Extrinsic Programming / @&l GranmfaeT

3. Straight line Programming/ ¥1<fT @T granfaier

4. Skinnerian Programming / aRae wranfaier

Correct Answer :-

« Intrinsic Programming / 3dRe& Uranmfee



42) The World Trade Organisation was established in the year

./ Ty IR A A woET T Hgs dh

1. 1995
2. 1991
3. 1994

4. 1989

Correct Answer :-

* 1995

43) Which of the following is not a characteristic of Palaeolithic Age? / fasarffaf@a & & la-d qraTToT F1er it v Forerwar aigh
4

1. The Paleolithic also used microlithic stone tools. / RTUTHTUT ?j\&ﬂw TR & R &1 ot W EZGRI|

2. During the Paleolithic age hominids grouped together in small societies such as bands./ QRUTNTOT &Il & &R dfATHsd 95 S BT
AT # T T Fagag Al

3. The Paleolithic is characterized by the use of knapped stone tools, although at the time humans also used wood and bone tools. /
QRTATHTOT 1 AlhgR TR & 3NSRT & SUANT ¥ Ugarl ST 8, Bleliieh 38 AT Alda oehst 3T &331 & SRT &1 o 3uaior e
|

4. They subsisted by gathering plants and fishing, hunting or scavenging wild animals./ & TigT &Y $dhcar aid 3R ATl Thsa, RIGR
Ph T A U ST SRt Y @it Shfad e Al

Correct Answer :-

« The Paleolithic also used microlithic stone tools. / GRTUTYTOT q&ﬂmﬁq TR & 3SR &1 o 3WTd &

44) Who fought Mohammad Ghori at Battle of Tarrain in 1191 and 1192 2/ 1191 3R 1192 & TWsa ¥ I # AgFAG A F FHwEem
fraet frar ?

1. Lakshmana Sena / ST&3T0T Tl

2. None of them / $F|?§I T aﬂé’ FF@I'

3. Jaichand / STddeq

4. Prithvi Raj Chauhan / g7 <7 diera

Correct Answer :-

« Prithvi Raj Chauhan / GdT I=1 e

45) Literacy refers to: / IT&Rdl P ATy Tl
1. Reading only / Fael Uge

2. Speaking only/ el drelel

3. Writing only/ %hael for@e

4. All of the above / 3URIFA Tt

Correct Answer :-

« All of the above / 3tRIed Y

46) During the reign of which ruler of Bahmani kingdom was the capital shifted to Bidar from Gulbarga? / Sg#=l GH=T
& e aaE & qrETHTe & SR TSl qeaat § TR AR # A =AY A2

1. Ahmad shah / 31&Hq QATE

2. None /sﬂﬁ'\ﬁﬂﬂéﬂ'ﬁ



3. Aluddin shah / 3TT3EIT S
4. Vira shah / foRT eme

Correct Answer :-

« Ahmad shah / 3&Hq QATE

47) Which ruler of the Vijayanagar empire wrote a famous book 'Amukta Malaya'? / Qe9«R @I & 58 a@s S F

1. Harihara / aR&

2.DevRayall / &@ I 11

3.Dev Rayal / d I 1

4. Krishna Deva Raya / ouigd ITd

Correct Answer :-

« Krishna Deva Raya / @ouicd I

48) was the committee constituted on ‘Revitalisation of Panchayati Raj institutions for Democracy and Development’. / Ahad 3R

R ¥ v gad v drunEt F e W _ |fafa #1 e frar o an
1. Ashok Mehta / 31RTeh HgaT

2.GVKRao/3l & & 1@

3. L M Singhvi / Tel T ey

4. Balwant Rai Mehta / Selad I 331?»?"

Correct Answer :-

« L M Singhvi /Tl T Rgdr

49) Which ruler defeated Harshavardhana? / f® s @ g¥ader &1 g@m?
1. Vasudeva of Chahamana Dynasty / iﬁ%'l?f (TTEHATT ) aer & El'@aa

2. Nagabhatta I of Gurjara Pratihara Dynasty / UléT gfder aur & ANTHACC JAH

3. Pulakeshin II of Chalukya Dynasty / <Te[eFd &1 & Gelhell feehiar

4. Shashanka of Gauda dynasty / itz ggq & ALATH

Correct Answer :-

« Pulakeshin II of Chalukya Dynasty / TTefer 31 & Jerehell gl
50) Arrange the following events in the order of their chronology:
1. August Offer

2. Poona Pact

3. Third Round Table Conference

4. Khilafat Movement /

Arafaf@a geamit # 39F FoFA F FA F Fafeya w1
1. 3FT 9&IT

2. qar gAGr

3. T MeAsT gFAdT



4. ReTHa R
1. 1-2-3-4

2.4-3-2-1

3.2-3-1-4

4. 4-2-3-1

Correct Answer :-

. 4231

51) During the integration and merger of states after India’s independence, the Government of India rejected the farman of which State’s ruler?

/ IR Y TaAAAT F 91 T F THHOT 3 RFeger & R, 9IRa TWER F 57 T5T F OHF F B T JEdHR FT &2
1. Raja of Kashmir / &R&AR & Il

2. Ruler of Travancore / ATGUTAR & AR

3. Ruler of Junagarh / S[9TE & AR

4. Nizam of Hyderabad / teare & fAsma

Correct Answer :-

+ Nizam of Hyderabad / %e3mang & fasimer

52) On which of the following proposals Mahatma Gandhi remarked “A Post-dated cheque on a crumbling bank”? / HgIeAT el & oeeT &
¥ FE yrae W Rogoll I F "gg 3t A TG F1 A6 91, Bwer dF Jse @R arar an?

1. August Offer / 3TITET TEATT
2. Communal Award / HFVEIH JIFHR
3. Government of India Act 1935 / HIRA &R AfATHTHT 1935

4, Cripps Mission / G R

Correct Answer :-
+ Cripps Mission / forcq e

53) Tibetan Plateau can be best placed in which among the following categories of Plateaus? / fsadl oR &I YR #ir Arafaf@a Aot &
e T W @ S awar ¥

1. Intermontane Plateau / 3faRTIAT T6R
2. Dissected Plateau / fa=3fed usR

3. Volcanic Plateau / STl @™ TSR

4. Continental Plateau / FFTGIURT U8R

Correct Answer :-

. Intermontane Plateau / 3/aRTIAdIT TR

54) Stream flowing in the direction opposite to the original consequent slope is known as. / IRfAF BIgﬂ?ﬁ ga F Rl R & yaka
U1 F FFT F T A ST S

1. Obsequent / maa?ﬁ
2. Resequent / Hﬂ'lc‘-fl?-ﬁ

3. Sunsequent / Hﬂ?—l—rﬁ
4. Insequent / 3TRAGA!



Correct Answer :-

» Obsequent / Wﬂa?ﬁ'

55) What percentage of the world's volcanic activity occurs within the oceans? / fae@ ¥ Wﬂlﬂ@' fafafr &1 fhae gfaerd AgmPRY &
sty gar @2

1. 40%
2. 50%
3. 70%

4. 90%

Correct Answer :-

e 90%

56) Which of the following is the largest mangrove forest in the world? / Arfafad & ¥ Fia fAg F gew 3T Hoa aa 2
1. Greater Antilles Mangroves, Cuba / I TeiforsT Eﬁ'JJ}I?I, e

2. Sumatra Mangrove forest, Indonesia / FATAT Hmg =, s%ﬁﬁm

3. Bahia Mangroves, Brazil / @ifear dad, smeirel

4, Sundarbans Mangrove forest, India / w o dd, AT

Correct Answer :-

» Sundarbans Mangrove forest, India / W Hog a=, sRa

57) The Gandhi Sagar Dam is built on which river in Madhya Pradesh? / aitft YRR aier ey ger & fpy & W Iamm am 2
1. Narmada / 13%eT

2. Tapti / dTHY

3. Son / @A

4. Chambal / Tarel

Correct Answer :-

« Chambal / T&el

58) Guantinamo Bay is located in which country? / TaiaT=TTAT @ISt fFw 2o & Rya &2

1. Cuba / @@l
2. Haiti / &

3. Bahamas / SET3TH
4. USA / 30311emT

Correct Answer :-

59) The Dehang-Debang Biosphere Reserve is located in which among the following states? / Arfaf@a # & B 159 & ggE-gar
Stawser Rerd Rua 82

1. Arunachal Pradesh / 37S0TIeT Ucel

2. Manipur / ATOTYY

3. Assam / 31GH



4. Sikkim / f&fGemar

Correct Answer :-
« Arunachal Pradesh / 3TS0TRIST G2l

60) Solar Valley, world’s largest solar water heater manufacturer is located in which of the following countries? / T & @ Fa gu &
HreR ardl, feg 1 wa@ 731 @R o aws fFavar Py 2

1. Japan / SITdTel

2. China / &1

3. Australia / 3iTe¢forar
4. Germany / ST3lr

Correct Answer :-

« China /&



